MATH 124 Spring 2005

Lecture: 23 A
Date: May 17, 2005

Skills you should acquire from this lecture:
- Problem solving skills related to two sample
problems for difference between two means.
Confidence intervals and Hypothesis testing
- Problems 7.109, 7.117, 7.107, 7.110(a,b,c)



()“O\"\w”‘é “C\erzﬂ Yo AFference batween o mMaeans
3108 %\Wf]aloql F N0 by

DTO\a\a/\/\ /‘}4 [ Uﬁ

L(/k /\/1‘ = ML\ AMAND MC[ l/v{)?l;{[’(z DFI/H%WW{LL/((W%
/\AZ,: WZAN NG M[c( ()L,?]*Q/(Q (7% (0A7Lfc7/ Mgpéa,,,/,

() U phafie

H ‘ _ T 2 Amino acds %5/\%
0 /Ml /MZ >‘/ gr bwqbvﬁ/ ]Dof V\],‘/o‘(,}(,)

H ; 0 Cie amine acd , Mfc /ew«/
SNalv for nitmiks ) ﬂ

best shahshe 62365‘7‘%\2 __0-7591¢4)

_l_“jt + 1250% -
3o o ML&_:&
SN Hy o phy=phy €O Pvalue= P(TL - 0-759)

éﬁ 6@»"’1”4@ o?D }MHLWZ[M {)[T(’OJ’W): P[7>077§?)

j0 683 . F51 L .A5%
= 25> TO.F5))\.20

41 {)VMW/% /Ny(/ &uwml P@éﬂl H@. There /5
No LV[W -L@ 6‘/)0(/‘/ 'l\WMLVHLm,(Z /z&(,ftmz)c AM (N MJC(//ZW%(_



?EE’EK‘Q 71.)| —1(

Letb 1 = mean cholesterd (evel ot Pl dogs
/‘Al: mesn clo lesteco) level of ﬁwc &(gij

(A,) HQ . //1[ _/MZ < D ara V’L}f have Same o

/%ij%Ww/ the cliac
L Ha A -~ M 20 cu peks 7Z/u/// hfymcéaﬁf%é,@u

W

foof dababe €= (43-17¢ 113G (3D

%
Wit df= min (e 3 =22 a
lal?f
bince Wy 15 p—phy 30 Plue = PCT > 1179

Lo6| £ 174 < (-5

= s S T 2679 > .o

50 5l f’l/w'uz (5 /M% Loonot Y\ejzov[ MN %pﬂzézy/s.
bo thee 16w eudine tad pels have O):7L1/-15L0L57Z(;/0/
lewtls o e ”Loﬂé

(b) A 45% (T &r p-py 15

/43-«17411,@;9T@1t%1' ““’_? sz,qu(}é,)%?&)
e 5
¥,

= (472 2351 ¢
-C}) (-14.57) 162572)



€) & 95% (T Lo py 15

l?‘ri@m?(r%é\\/_i)
25

7174 7T 14.02%
2694 113.01%)

(d) The g1ty Msuqo}/mg e that  Ho too groeps
05@5 Are. ml&pmdhl/- Aso  auch %sz ‘QVD”@
%WM Aé a5Rs from /)0/%/4}/0/, of ol @5 (s
15 cleadly whee He chal lhredf les) - The
final Méuwphon 5 thd cacs 14 ww’ﬁ[é {rom a normdly
ﬂ/l/fy;‘\[ 1L\,MJZ/ fOW'{A}LM (Hns 14 193 WMWI@A ~o9] /t}fz/y V/o/wé/
| Pfoua/v\ —‘7”’03'

[Jz)l /44( = MLAN HwMMl}Wml }‘OA/LL”MIMIL/ﬁ //’pr a/cecumla{s
Lt It " 1 Cnon—e Uaaw/e/‘s
M =

Teok- Hofﬁ[—’/lf?j;é(? (e Vw%tllpén%a,)
V5 Hp L M M F0 /dtNLPcnzcmmMmthU

Lot 6}%5%& = £-45= 62 — 2,450
lﬁ_'b_f,]l 356 -
L6 125
w1 JF;N\(HA-\I 154)=015 Susy ) iy e Si0ce Mg 15 M-po 70
2,0 C 3.650 Potlue. =2 T )wfbﬂ




= o009 2 (A 2,659

S ool > LPCT>3.650)
vo S pialue <o) T ey we <o

reedt Hoa vull by pothens . 5o conclude thal there

Lﬁ ;Lﬂ\{l\(\(/re/lcg I Scom VMALM/[ Ao cu/zc /IL/(/u/Mefé 4
bekween Yoo 9rowps,

PPDL[LM 1) D d,L/(/
Let M= M rmhas ot pns br 5%}5

/&7,: LN /\q/wlwt«( 07[L pv'j Por wﬁf&’(qg

[”') Hoﬁ //!’ “'/"{2, >/(7 Cre 57[’*‘&/’)/‘5 w&/‘&é(dl/C//
(e Shudermts W/‘iz)

Haz //‘1 — M2 Lo
Lo dabishe = 2223932 _ _g 456 (3
w2y
Fho Gl

i R win (F50-, Gn) =Gl o se Lisico line

sune My 15 NP0 Piulue = PLTC ~,4%4) 55

by 69MMrg ot + yslibuhar 0(TL ~$.954) = V(T 5845

—a UJLL(,L &3 ]
’3&/640 < %,4’?4/ ’(:_7 P;@Z(} }/@- TW QMZW(M/J
10009 ) \0(' 75’4[7’4) worles ol Z”MWLA‘ e
Plng ordbrrpe Pron Judkits



@) Becawse wr have )W A2ed samples CLT 1y he
WM 7]'&”5%9 W 2 L’% ﬂ’fpmxﬂlMMicjg Moer( jztﬁllﬂéq/w

Cé) “a/\ ZX\OMM)MZ&/ u/cofkll/ //> ,%Mﬂk 9/%/24 /

- %0 (T 15
2,9
7Pl i |46 2=
Vi

:_? @gf@li 7 5 07

= (24.913 | 44%17}



	Lecture: 23 A 

